Midterm 1
Linear Algebra and Applications
(Math 33A-001)

Answer the questions in the space provided. If you run out of room for an answer, continue

on the back of the page. Show your work.
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such that

1. |5 points| Let T be a linear transformation from R? to R3

-()+()-() =)

Compute the matrix of T
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he zero vec-
. |5 points| Let A be a 4 x 4 matrix, B is a non-zero vector in R*, and 0 is the

any solutions.
tor in R%. We are told that the linear system AX = T has mﬁnj';ly mb ?y iguhion!
What can you say about the number of solutions of the system
explain your answer.
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f ker(A) = {0} and

. |5 points| Let A be a m x n matrix and B a n x p matrix. I
-
ker(B) = {0}, then prove that ker AB = {3}
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Quiz 3
Math 33A-001
(Tuesday)
(10 minutes)

L{Show your work to recejve partial credits. Use of calculator is not allowed for |
this quiz.
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. 10
1. Find a2 x 2 matrix A such that A # I, but A% = I,, where I, = ( )

0.1)°
(Hint: Think geometncally')
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